1. Health and Disease:
a. Besides the absence of disease, the WHO definition of health includes a state of mental well being (T)

b. Besides the absence of disease, the WHO definition of health includes a state of social well being (T)

c. Health is characterized by adaptability in the face of changing environmental conditions (T)

d. The work environment can influence health and cause diseases (T)

e.  Ageing is a disease

2. Life Expectancy:

a. Life expectancy at birth is a summary index of mortality experience (T)

b. Males have a longer life expectancy than females

c. Life expectancy at birth in Singapore at present is 74 years

d. Life expectancies in some countries are projected to decline in the immediate future (T)

e. Health Adjusted Life Expectancy is not based on life expectancy at birth

3. The Crude Death Rate in Singapore:

a. Has a denominator the total number of citizens and permanent residents only

b. Has as its denominator the mid-year population of the country (T)

c. Has as its numerator only citizens who dies in a particular year
d. Is now at about 4 per 1000 population (T)

e. Is a good indicator of the state of health of a country

4. We say that Singapore’s population is ‘ageing’ because:

a. The number of old people (65 and above) is large

b. The proportion of old people (65 and above) is growing (T)

c. The median age of the population is increasing (T)

d. The crude birth rate is declining

e. People are healthier and do not get illnesses early in life

5. Main sources of local ambient air pollution are:

a. Fuel burning for electricity generation (T)

b. Emission from transport vehicles (T)

c. Air traffic

d. Open burning of refuse

e. Transboundary pollution from industrial activity

6. The principles of solid waste management in Singapore are :

a. Promote the three Rs of recovery, reuse, recycle (T)

b. Incinerate all incinerable wastes (T)

c. Dispose waste that are not incinerable at landfills (T)

d. Do not reclaim toxic industrial water for reuse

e. Segregate hazardous waste for separate incineration (T)

7. Which of the following risk factors in Singapore residents, aged 18-69 is (are) on the decline in the last decade?

a. Cigarette smoking (T)

b. Total cholesterol

c. Obesity

d. Hypertension

e. Hyperglycemia

8. With regards to the care of the elderly, the following statements are correct:

a. Instability is an important cause of morbidity in the geriatric population (T)

b. Prevention is less important than cure

c. Atypical presentation of medical problems is common (T)

d. Aggressive treatment of acute problems is important (T)

e. Screening for diseases is not useful

9. The following statements are correct:

a. The level of socio-economic development of a country is often related to the health status of the population (T)

b. A healthy population can contribute to the economic productivity of a country (T)

c. Health status is always improved by spending more on higher medical technology

d. Health expenditure can be reduced by the ways that doctors practice medicine (T)

e. ‘Supplier-induced demand’ occurs when doctors generate more demand for health care (T)

10. The following statements are correct:

a. There is little dilemma between medical ethics and economics as medicine is scientific and there should be no uncertainties
b. Professional codes should be followed even when societal interests are affected

c. The doctor’s clinical freedom to do the best for individual patients would result in greatest benefit to society

d. The practice of evidence-based medicine in a cost effective manner can lead to social justice in health care as a common good (T)

e. Societal values and government policies will constrain medical practice (T)

11. The following statements are correct regarding development in infants:

a. Developmental screening is an assessment of the child’s intellectual development

b. Primitive reflexes are a reflection of future voluntary movement (T)

c. The sequence of development is the same for all children (T)

d. The rate of development is the same for all children

e. Generalised mass movement evolves into specific individual activity (T)

12. The following are absolute contraindications to childhood immunizations:

a. Allergy to eggs

b. Prematurity

c. High fever of 40oC within 48 hours of the first diphtheria injection (T)

d. Current febrile illness

e. Children receiving high does of steroids should not be given live vaccines (T)

13. The Expanded Programme of Immunization (EPI) covers the following diseases:

a. Diphtheria (T)

b. Measles (T)

c. Chickenpox

d. Tetanus (T)

e. Hepatitis B

14. Regarding adolescent health:

a. Gynaecomastia is deemed pathological if it persists beyond 24 months in boys (T)

b. Parental concerns over-ride teenage patient confidentiality

c. Prevalence of delinquency, substance abuse and eating disorders are indicators of psychosocial health (T)

d. Psychosocial development in adolescents can be divided into 2 phases (T)

e. The thrust of the school health service is towards primary prevention (T)

15. Common healthcare problems of adolescents in Singapore include:

a. Obesity (T)

b. Scolliosis (T)

c. Dyslexia

d. Type II diabetes mellitus

e. Myopia (T)

16. What is considered as primary prevention?

a. Taking oral calcium daily in a normal woman (T)

b. Having a Pap smear done every 2 years

c. Using oral hypoglycaemic agent for diabetes

d. Checking blood lipids yearly (T)

e. Yearly mammograms for a woman with a past history of breast cancer

17.  With regards to women’s health:
a. the risk of ischaemic heart disease is half that of males in postmenopausal women
b. mammograms should be done every 2-3 years fore women above the age of 59 (T)

c. Pap smears should not be conducted for women above the age of 60

d. Smoking cessation is of no use to women above the age of 70

e. Life expectancy for females is on average 4 years greater than for males (T)

18. The following is definitely considered a handicap:

a. Being born with a congenital defect

b. Being born with a ventricular septal defect but being able to do all the usual activities of daily living

c. Becoming a quadriplegic after a diving accident and not being able to complete tasks of daily living (T)

d. Having dyslexia that is being managed and attending a regular school

e. Being born partially deaf and having a cochlear implant

19. The following are tertiary prevention measures:

a. Neonatal screening

b. Developmental assessment checks

c. Antenatal screening

d. Orthotic and prosthetic services (T)

e. Occupational therapy (T)

20. Falls in the elderly

a. May result in serious psychological trauma (T)

b. May lead to increasing muscle weakness (T)

c. Is the main cause of dementia

d. Are frequent in Parkinson’s disease (T)

e. Can be prevented if we sedate and tranquillize them
